Summarize the points made in the lecture, being sure to explain how they challenge specific points made in the reading passage

The text is mainly about the agnostids-primitive arthropods which become extinct many years ago, and some theories about how they may have lived. The reading passage asserts three main hypotheses. The lecturer, however, finds the idea dubious and casts doubt on the reasons proposed by the reading passage.


 First, the author argues that agnostids might have been free- swimming predators that hunted small animals. They just like other types of the primitive arthropods, which were strong hunters. Conversely, the lecturer brings up the idea that other predator arthropod normally had large and well developed eyes which helped them to prey on effectively, however, the agnostids had a different tiny eyes and were sometimes completely blind. Moreover, paleontologists did not enable to discover any sensory organs as a helping factor of hunting in fossil recording. Thus, the agnostids could not have been strong predator.

Furthermore, the reading passage holds the view that the agnostids may have lived on the sea floor. On the contrary, the professor underlines the fact that many marine creature which dwelled on the sea floor typically were not fast and swam slowly, also they did not move far distance. Therefore, they prefer to stay one place rather than spread to the other new places. In other words, a myriad of marine animals occupied small areas in seafloor without moving where else, But many agnostids were multiple and lived in very large areas also they moved long distance with high speed.  

[bookmark: _GoBack]Finally, the reading says that agnostids were parasites. In contrast, the speaker dismisses this issue due to the fact that typical parasites had not large population. It is because of this fact that if there are too many parasites, they probably kill the host organisms they live on, and so it might be contributing to limited population and inhabitants. On the other hand, the population of many agnostids were large and fossilized finding rolled out that the agnostids were parasites.
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